
Q Lel alju) x1) y 
desd looy tauler fwndion In unid fudlad 

San dard 
- dy feedlack

We s2ant lecus y 

aw Corslunt

IT 

Assignment 3 Solutions



PAGE N 
DATE 

-)< 2c 

f et:( Dx+ 2 /4 
-1) C1)| 

2 

2 2 

Which s u da ilh adus 

and wlhe_al 

2 

Tf 2x 

2 

Ipesdi uny feed ak aawed- 

add us 

Cenlke



pAGE 

DATE 

Nao 1 Londoa phuss

TG 
iy 

tan Tan 

Lan = 

2 tar 

Kadius La 

2 2 tano 

1perdhue ferd lack asumid 
Rad us 30N, 

lenh 

y0 vch i saight lna. 















Scanned with CamScanner



Scanned by TapScanner



Scanned by TapScanner



Scanned by TapScanner



Scanned by TapScanner



Scanned by TapScanner



10
-2

10
-1

10
0

10
1

10
2

10
3

10
4

-270

-225

-180

-135

-90

-45

0

System: g
Frequency (rad/s): 33.1
Phase (deg): -180
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Bode Diagram
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Nyquist Diagram

Real Axis

Im
a

g
in

a
ry

 A
xi

s

0 2 4 6 8 10 12 14 16

x 10
-4

-5

-4

-3

-2

-1

0

1

2

3

4

x 10
-4

System: g
Gain Margin (dB): 102
At frequency (rad/s): 33.3
Closed loop stable? Yes
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